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Abstract

The programmer(Creator) made the world. 300million years ago, a warm-blooded
reptile(Adam and Eve) began living in trees to avoid snakes.

As the Gymnosperm(tree of life) evolve into the Angiosperm(tree of knowledge of
good and evil), the Fine cone became a Fruit. and the warm-blooded reptiles that
used to be herbivores on tree(subspecies) evolve into mammals(Eve).

They were divided into herbivores and carnivores, but carnivores were unable to
adapt and became extinct. sixty-five million years ago, when the K-pg extincion
event occurred, a great flood occurred at the location of the african continent.
However, the ancestors of Eurachontoglires(Noah), which used to live in wooden
houses like beavers to avoid predators has not been extinct. They drift on the
ocean. they drifted down to a new volcanic island(Ararat island).

The Eurachontogrlires(Noah) were classified as Primates(Shem), Rodents(Ham) and
Rabbits(Japheth).

Primates(Sem) lived in the forests, but as the forest became desert, they lived on
the pasture(13:18). thet became the first human beings(Abram).

The human beings used fire(15:17) and began to settle in the spring(16:7).

A hairless human beings(Abraham) has emerged. The hairless human race was
genetically divided from the previous human being(Abimelech)(20:18)

They used tools(21:20), and they became aware of death and the supreme
Being(22:1~22:19). They held a funeral(23:1~23:20)

Humanity has changed from a hunter-gatherer society (Esau) yo an agrarian
society(Jacob).(25:27~25:34)

As the agricultural society developed, private property was created. with the
creation of private property, it became a class society(Laban).(29:17)

From a tribal-centered confederacy(Jacob) to a centralized state where the king
rules several tribes(Israel).(35:10~35:12)

Egypt concentrated power on pharaoh, sending priest to each city to rule over
them. The priest shall receive the land and be paid by pharaoh. The priest served
as an official(47:22~47:26).Then Religion and Politics were linked(41:45)

Israel divided into twelve administrative districts for various tribe to live together.
The Levites of Israel were priests and officals in charge of the cities.

Joseph entered Egypt and overcame a cirisis when Israel was a famine.

Joseph did much for Israel and was assigned two of the twelve administrative

districts.



Text

I will interpret the Genesis in accordance with the theory of evolution.

The Book of genesis is a story of the creation of space, humanity and the Israel
tribe. Genesis was recorded about 5000 years ago and language was recorded as
classical Hebrew. The classic Hebrew uses a relative tense. The first is the past
tense, the second is the present or the future tense.

The book of Genesis was recorded the revelation of God.

It was assumed that the genesis would be the same way, since the book of John's
was recorded at the revelation of God. I compare the Genesis with the theory of

evolution.

Genesis 1:1 shows that God existed before the world we lived in and it also shows
that God is the programmer who created the world. God may be outside the world
we live in. Big Bang may be the result of God’s double click.

1:1~1:5 Light was surrounded by atomic nuclei and electrons just after the Big
Bang, so light could not escape into space. But when the temperature of the
universe drops and the substance forms a stable atom, light passes through the
substance and reveals the universe.

1:6~1:8 it shows the formation of the primitive earth. The primitive earth was high
in temperature and mixed with gas and liquid material. As the gas escaped
magma, the earth was divided into the magma ocean and the gas layer.

1:9~1:13 it shows magma hardening as the primitive earth cools.

1:11~1:12 The record of plants being formed is to explain the nature of the “land”
caused by magma being hardened. since the classic Hebrew uses a relative tense,
it is recorded that the plant was born right away. but it is scientifically appropriate
to interpret that the land was formed, and that after a long period of time, plants
were grew on it after a long time.

1:14~1:19 When magma ocean became hard on the earth, the earth was hit by a
huge meteorite. And the debris of the earth and meteor scattered in space became
the moon.

1:20~1:23 birds appeared, so we can know that this is the time og the mesozoic
Era. Because birds appeared in the Mesozoic Era.

1:24~1:25 living creatures are classified as live stock, creatures that move along
the ground, and wild animals. In order to interpret this, we need to know how we
had to evolve to become human beings.

Human being is bioligically part of the family of primates, mammals, and
vertebrates. I assumed live stock, creatures that move along the ground, and wild
animals are ancestors of warm-blooded reptiles, snakes, and other reptiles.
1:26~1:28 This means Adam and subspecies appeared. I assumed that Adam and



subspecies evolved into mammals. Chapter 2 to 3 explains why warm-blooded
reptiles became mammals.

1:29 tells us that Adam and subspecies was a herbivore.

2:1 The creation of the world has done. If Big Bang is the result of a God's double
click, the first sentence in genesis chapter 2 maybe means that the coding of the
world is complete.

2:5 we can know that the environment did not rain at that time. So I assumed
that Pangaea, Where the whole continent became a single continent and desert,
was the environment of the time. Pangaea had no clouds in the land, so there was
no rain. Then Pangaea was divided into continents, The plants sprouted and Adam
and Eve appeared at this time.

2:9 At that time, because it was a rain-free environment, the seed plants that
breed not spores but seeds thrived.

3:1 Since the time when snakes and figs first appeared was the Cretaceous Period
of Mesozoic Era, The third chapter of Genesis can also be inferred from this
period. In order to interpret the third chapter of Genesis, we must know the
environmental conditions of the Cretaceous period of the Mesozoic Era.

The Cretaceous Period was a warm climate, and it was a time of the emergence of
Angiospem and Mammals.

[ made several assumptions based on this information.

First, Adam and subspecies were assumed to be warm-blooded reptiles. Most
reptiles adapted to the warm environment of the Mesozoic Era and evolved to grow
in size. But the larger reptiles were cold-blooded, so they could not be active at
night when the temperature was low. So the smaller reptiles were active at night,
avoiding the huge reptiles. Small reptiles kept their temperature in order to move
at night, and they evolved into warm-blooded animals. I think small reptiles are
adam and subspecies.

With the advent of warm-blooded animals, snakes have developed pit organs that
detect heat from warm-blooded animals.

As we can see through the infrared camera at night, the snake found and hunted
warm-blooded animals through the pit organ.

The Second assumption is that the tree of life and the tree of knowledge of good
and evil are the gymnosperm and the angiosperm.

As the continent moved, the gymnosperm lived in areas which strong sunlight.

The gymnosperm adapted to the environment. They could more Photosynthesis
because their leaves were broadened. They could get a lot of energy from
photosynthesis. With this assumption [ saw Chapter 3 of Genesis. [ imagined a
situation where snakes and warm-blooded animals were in the forest. The
warm-blooded animals wee divided into two species over time. One large(adam)
and the other small(subspecies). But they were able to breed.(2:25)

Among these, a small warm-blooded animal(subspecies) evolved to live on a tree,



avoiding a snake, a predator. subspecies lived on a tree and ate fine cones.

But as the pine cone evolved into a fruit, Eve's body changed. Then subspecies
bore the fetus by providing energy directly instead of laying eggs.(3:16)

And the scales are replaced with fur to improve the heating effect.(3:21)

In summary, warm blooded reptiles evolved into mammals as the pine cones
turned into fruits. Mammals were recorded in eve.(3:20)

3:22~3:24 Mammals moved to the sunny climate where there was a lot of fruit.

In addition, as the bug has two meanings: l.a bug 2. a program error. To the
programmer(creator), the snake may have two meanings: 1.a snake 2.a side effect.
4:1 Assuming cain and abel’'s offerings as food they ate, I assumed they were
herbivores and carnivores. Abel, a carnivore, became extinct because he was
unable to adapt to the environment.

5:1 Adam was classified in to a variety of species.

5:24 Interpreted the expression that Enoch did not die. that God had taken him to
mean Enoch was not extinct. So I assumed that Enoch was an Australian animal,
such as a marsupial, they had evolved independently from its external
environment.

5:22~5:27 It is said that Methusella lived 999years, and 999years will not be the
actual period, but a symbolic number that represents the end. I assumed this time
was a K-pg extinction event 65 million years ago.

6:1 The sons of God represent warm-blooded reptiles and the daughters og men
represent mammals.

6:4 Nephirim seems to be a descendant of a large warm-blooded reptile.

Noah is a species derived from Adam. They protected themselves by making
shelter out of wood to avoid predators. The earth was hit by a meteorite impact
65million years ago. The collision sharply raised the temperature of the earth.
However, as meteorites blocked the sunlight by creating dust clouds, some areas
began to freeze cold. Most of the cold-blooded reptiles that existed on the Earth
died because they could not withstand a sudden change in temperature.

However, warm-blooded animals that could maintain body temperature survived
these conditions.

Noah faced a bigger crisis. because Noah lives in a place where there is a huge
flood caused by abnormal weather. Fortunately, Noah's shelters were made of
wood and floated in the water, so they were not extinct in the floods, Other
animals also sensed danger and rode on Noah's shelter to avoid flood. Noah
drifted on the ocean for six months because of the flood. However Noah had no
problem getting food because of the habit of storing food in the shelter.

8:1 Noah landed on the new volcanic island after drifting fir six months on the
ocean. The island was not inhabited by animals. So noah and the other animals
thrived quickly on the island. Noah was isolated from the island and evolved

independently unlike other animals. This island became Mount Ararat today,



gradually rising 65million years later(8:14).This island had four seasons(8:22)
9:1~9:3 The meteorite crush wipe out the huge reptiles. The mammals no longer
needed to avoid them have evolved to carnivores. But some reptiles evolved into
warm-blooded animals and survived.

9:14 The appearance of the rainbow is that the dust clouds that block the sun
have disappeared. Noah evolved into Shem, Ham, Japheth.

These are the ancestors of today’s primates, rodents and rabbits.

9:18~9:29 Alcohol is fermented from grapes. Grapes were probably one of the food
stored in Noah's Shelter. Because of alcohol, Ham gave birth to the mutant
Canaan. Canaan, a mutant in rodents, assumed to be rat. Rats with thin tails due
to genetic modification caused by alcohol evolved to live in dark under ground
instead of living in tree or land.

10:1 Noah's descendants fled the island and extended to the whole continent.
Rabbits(Japheth) flourished in the cold region because of their abundant fur.
Nimrod somehow prevented other animals from entering his territory. So the other
animals had to avoid Nimrod and find another habitats.

11:1~11:9 Noah's descendants made shelter just like Noah did. But the giant
reptiles became extinct and had no predators to eat them, they no longer made
shelters and adapted to the environments in various ways.

12:6 Abram, who was divided in shem, left his hometown and settled in shechem
forest.

13:18 Abram, who lived on the tree, descended from a tree and began to live on
the land. At that time, desertification would have progressed and the area of forest
would have decreased.

14:1 As various tribes move to war. the diversity increased as the genes that were
isolated by region were mixed.

15:17 If it is interpreted that the rituals show the eating habits of mankind, it can
be seen that mankind has used fire.

16:7 hagar tried to settled down near the spring.

16:15 Ishmael was divided in Abram.

17:1 Abram evolved «closer to modern humans through a fur-removing
circumcision. Human beings who evolved without fur are called Abraham.

Abraham was hairless and could move in a hot environment. Also, insects that
had been parasitic on hair disappeared and they were able to keep clean.

The meaning of circumcision has been changed to mean removing the skin of
male genitals.

19:1 The same species of abraham, lot, suffered from volcanic eruptions and
earthquakes in sodom.

20:18 Abraham moved to Gerar, Where Abimelech lived. Abraham and Abimelech
were similar in appearance and were able to have babies, but the offspring that

arose between them were not able to conceive.



21:2~21:7 Isaac, the ancestor of modern humans, was born. but not all species of
modern humans have evolved from the isaac. Other species that had already
appeared were evolving indifferent regions.

21:19 Hagar and Ishmael began to settle in the area where the springs were.

22:1 human beings recognized death. To overcome the fear of death, the ritual
was held for God. The offering used lamb, a symbol of promise.(21:30)

23:1 While recognizing death, Abraham held a funeral and buried sarah in the
cave.

25:5~25:6  When Abraham died, the tribes was divided into several groups,
Abraham took Rebekah as his daughter-in-low so that the tribe of Isaac would not
be torn apart.

25:19~25:34 In the tribes of Isaac, the hunter-gatherer society(Esau)and the
agrarian society(Jacob) coexisted. However, Jacob secured more stable food than
Esau, by storing grain through agriculture. So jacob was more prosperous than Es
™.

26:1 Isaac went to Gerar, Where Abimelech lived, because of famine.

26:8~26:11 Isaac and Abimelech became completely different species and did not
breed.

26:18~26:35 Abimelech did not have the art of making wells, but Isaac did not. so
he made many wells in gerar. But it was Abimelch’s land, so the owner of the well
was Abimelech.

26:26~26:33 Abimelch hated Isaac who invaded his territory. But Isaac’s well made
rich in Gerar. So Abimelch signed a peace agreement with Isaac. Isaac and
Abimelch set the boundary between the two tribes as a well called Beersheba.
26:34~26:35 Isaac and Rebekah were worried that Esau was married to the Hittite.
When Esau dies, the tribe could be divided by culture.(25:6)

27:1 Esau succeeded Isaac as a hunter-gatherer. Jacob succeeded Rebekah as a
farmer. Isaac wanted to appoint Esau as tribal chief But the tribe of Jacob became
more prosperous. So Isaac appointed Jacob the chief of the tribe.

Esau did not accept that Jacob had become a tribal leader. So Esau went to war
with Jacob. The Esau was small in size. However, hunter-gatherer skills have
developed. So Esau won the war.

28:5 Jacob, who lost the war, fled to the Laban. laban was Rebekah’s brother and
lived in her hometown.

28:6~28:9 Esau extended his territory to the place where Ishmael lived.

28:10~28:22 Jacob set up a monument at Bethel when he received a revelation in
his dream.

29:7~29:8 Jacob told Haran's shepherds that it is good to let the sheep drink water
and graze when they want.

29:17~29:30 Haran was located near Mesopotamia. Haran is more advanced in

agricultural technology than isaac. Advanced agriculture created private property



and formed a class society.

29:17 Rachel was a special class and Leah was a general class. Jacob was a
member of the general class because he fled to laban, losing the war, but later
reached the special classes.

29:31~29:35 Jacob lived in Laban, and there arose a variety of tribes betweeen
Jacob and Laban. The first tribe between Leah and Jacob was Reuben.

Reuben means ‘son’, Reuben means they inherited Jacob’s culture, not Leah.
Simeon means ‘listening’ Simeon is that Jacob has become influential.

Levi means ‘alliance’ Levi means Leah and Jacob formed a league.

Judah means ‘praise’, Judah means Jacob has regained strength.

30:1 Jacob began to enter the special classes. The special classes consisted of
Rachel in the center and Bilhah in the provinces. Jacob became a Bilhah, and
there was a new tribe. The tribes that became a special class in the provinces was
called Dan, Naphtali. Dan removed the irrational discrimination that Jacob has
suffered. Naphtali means Jacob’s rise to power similar to the central special calss,
Rachel.

30:12 Jacob also had various tribes among Leah’s maid, zilpah.

The son born between them was called Gad, Asher. Gad means good fortune,
Asher means happiness. It can be thought that it was rich at the time.

30:14 Leah was ruled by rachel. However Leah was given autonomy on condition
that she offered Rachel a certain amount of grain as a tax. The tribes of Leah
were called Issachar, Zebulun. Issachar means reward, and Zebulun means that
Jacob and Leah became one tribe. There was also a tribe of Dinah among them.
Dinah inherited Leah’s culture, not Jacob. Dinah means justice.

30:22 Jacob belonged to the general class, but he became Rachel, a special class.
Joseph was born between them. Joseph means add. Laban flourished as Jacob
became a special class.

30:25 Jacob came to laban after losing the war against Esau. Jacob lived in Laban’s
country on the condition that he provided free labor.(29:15)

But Jacob wanted to leave Laban and return to his homeland when he restored the
power of the tribe. Then Laban paid Jacob for his labor and made him stay in the
kingdom of Laban. The kingdom of Laban had developed since Jacob came. Jacob
agreed to receive a stained sheep in return for labor. Then Laban left all the
stained sheep to his sons and had Jacob raise only the white sheep. The color of
wool is related to Mendelian inheritance. Because the white sheep are dominant,
the white sheep are usually born, but the stained sheep are rarely born.

Jacob planted trees in the sheep’s habitats, so the water did not dry. The sheep
were grazing, and when they were thirsty, they came to drink water(compare with
29:8). Trees also made shade and fruit for sheep. As the environment improved,
the sheep gave birth to many young. As the number of sheep increases, so does

the amount of sheep that is stained



30:40 Jacob Knew that if the stained sheep and the white sheep were interbreed,
the white sheep would be born. But if the stained sheep interbreed, only the
stained sheep would be born. So jacob distinguished the stained sheep from the
white sheep. Jacob’s sheep grew near the wood he planted, and Laban’s sheep
were outside. Jacob’s fortune has greatly increased.

31:1 As the power of Jacob increased, Laban’s sons disapproved that he had taken
away his father’s property. Jacob, along with Rachel and Leah, left Laban for his
hometown. But they were caught by laban. laban was very angry, but they
reconciled dramatically. Jacob promised Laban that he would establish a marriage
alliance only with his daughter and would not invade each other’s country. And
they built a monument.

32:1 Jacob had to face Esau to go homeland. Jacob gave many gifts to Esau, and
Esau Left his hometown and build a new country. When Jacob was gone, Hamor's
son’s came to live in his hometown, but Jacob bought ladn for them and restored
their territory.

34:1 Dinah, was weak in solidary with other tribes because she inherited Leah’s
culture, not Jacob. Shechem, son of Hamor, the Hivites invaded Dinah’s territory
and proposed marriage alliance to Jacob’s sons. Jacob’s sons accepted the
marriage alliance on the condition that Shechem was circumcised.

But simeon and Levi attacked Shechem, Kkilling every male and took back Dinah.
When Jacob belatedly knew of this, he rebuked simeon and Levi for attacking
Hamor without his permission. Then simeon and Levi held Jacob responsible for
failing to prevent Dinah's territory from being invaded.

35:1 Jacob feels the need to strengthen his authority as his sons are divided into
several tribes. Jacob had the Gentiles and earrings buried under Bethel's oak tree
to eliminate Laban’s culture. Jacob named himself Israel and made hinself king
over the tribe leader to make the kingdom. Jacob, a tribal confederacy, has
become a centralized kingdom, Israel. Israel said one of the twelve tribal chiefs
would succeed him as king

35:16 But Rachel, who was a special class in Laban, rejected Jacob’s policies and
insisted on Laban’s culture. Jacob purged those who inherited on Laban’s culture
and spared only those who followed Jacob’s culture. They were called Benoit and
Benjamin.

35:19 The dead were buried in Bethlehem way. This is in contrast to Rebekah’
nurse, Deborah buried Bethel under an oak

35:22 While Israel and Rachel Fought, Reuben staged a rebellion but failed.

35:27 When Isaac died, Esau and Jacob buried him

36:1 we can see that esau has also made a kingdom.

37:1 Joseph has been a member of the special class since he was born as the son
of Rachel.

37:3 Joseph’'s brothers thought Israel considered Joseph the heir to the king. So



they decided to assassinate Joseph. However, Reuben opposed the assassination
plan. Instead, Judah sold Joseph as a slave. Israel thought Jacob dead. Israel
mourned Joseph’'s death. Joseph was sold to Potiphar, an officer of Pharaoh’s, and
captain of the guard.

38:1 Judah secretly interacted with the canaanites in violation of Israel's solidarity
policy. there was Er, Onan, Shelah between them. But Israel treated them as
outsider. Those who interacted with outsiders were purged. Because they did not
follow Israeli policy. But judah again interacted with outsider. Judah, in principle,
had to purge all those who interacted with outsider. But Judah did not.

The tribe that arose between Judah and Tamar was called Pharez, Zarah.

Pharez means ‘destroy’ and zarah means ‘rock’. These names show that Israel’s
policies were destroyed by judah. The monument with the law was destroyed.

39:1 Joseph was sincere and intelligent. Pothiphar put him in charge of his house
hold, and he entrusted to his care everything he owned.

Then some forced Joseph to join the rebellion. But when Joseph did not join the
rebellion, they falsely accused him of harming potiphar and of being the captain of
the guard. So potiphar put Joseph in prison, the place where the king's prisoners
were confined.

40:1 Joseph assisted Warden in prison. Some time later, the cup bearer and the
baker of the king of Egypt offended their master, the king of egypt.

They were imprisoned in the prison of captain of the guard made Joseph serve
them. Joseph said the baker was the one who tried to poison the king. Joseph asks
the cup bearer to tell the Pharaoh to get me out of prison. Joseph said I had
never done anything to be put in prison But the cup bear forget this.

As Joseph said, the baker was the culprit, not the cup bearer, and cup bearer
restored his position.

41:1 Pharaoh executed the baker, so he wanted to hire a new official. However,
there were no suitable talent. He may not have trusted his men because he was
nearly poisoned. Then the cup bearer remembered Joseph and told Pharaoh that
he had predicted the fate of the cup bearer and the baker. Pharaoh would have
told Joseph about the problems that need to be solved. They might have discussed
strengthening royal authority, administrative planning and territorial expansion.
Joseph explained his plan to Pharaoh.

41:33 Joseph had Phareoh’s officials take charge of the province

41:34~41:35 And they stored a fifth of the harvest in the city to prepare for the
bad harvest When Pharaoh heard of Joseph's plan, Pharaoh made Joseph ruler of
Egypt.

41:45 Pharaoh married Joseph to the priest’'s daughter This means that the offical
also served as a priest.

42:1~44:34 When the famine came, Joseph's brothers came ti Egypt to buy grain.
But they don’t recognize Joseph. Joseph had been thought to be the heir to the



king, So he was sold to the Egypt by other brothers. So joseph thought there
would still be tribal discrimination in Israel, so he needed to test the unity between
Israel’s tribes. Joseph intentionally put Benjamin in trouble and saw how other
tribes would behave. Joseph makes Benjamin a slave for stealing Joseph's silver
cup. Then judah said he would be aa slave instead of Benjamin.

45:1~46:34 Joseph confirms that Israel is united and says he is Joseph. And Joseph
makes his brothers and his father live in Egypt.

47:13~47:20 As the famine continued afterwards, these who could no longer buy
grain offered their land to egypt. Pharaoh was able to expand the land of Egypt
without sacrifice.

47:21~47:26 Those who could not buy grain became Pharaoh’s servants to get it.
However, officials did not sell their land because they were paid regularly by the
pharaoh. Joseph distributed the seeds to the Pharaoh's servants and let them
planted And a fifth of the harvest was given to them. But the harvests from
official’s land did not need to be given to the Pharaoh.

48:1 Israel divided its territory into twelve according to the tribe. Israel left a will
as it neared his death. Because Joseph had done much for Israel, Isreal had him
rule two of the twelve area, the other tribes ruled one area. Levi became a priest
and was in charge of governing to town.

50:1 Joseph asked his son to bury him in his honetown, but his son assimilates

into Egypt and loses his identity as an Israeli.
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